Name
Date

Multiply
One-Digit Numbers

Directions: Multiply and show work. Solve the riddle with some of the answers.

You find me in December, but not in any other month. What am 1?

E. u. P. T.
72x6= 64 249 x5 = $26.05
x9 X 3
| B. T. F.
36 27,516 x2 = $15.05 143
X 6 X 4 X 8
C A. D. W.
95x3= 45 213x 7 = $14.12
X6 x 9
0] R. E. H.
74 23,618 x2 = $12.65 365
x 8 X 3 X 4
E T. L. D.
86 x5= 75 657 x9 = $34.50
x 8 X 6

$78.15‘ 1,460 ‘ 432 ‘ 260 ‘ 5,913 ‘ 430 ‘$60.20‘ 600 ‘$37.95 ‘ 47,236‘ 218 ‘$207.00

Fun Facts: Decem means “ten”. Originally it was the tenth month on the old Roman calendar. December marks the
shortest day of the year in the Northern Hemisphere and the longest day in the Southern Hemisphere. The birthstone for
December is bue turquoise or zircon. December originally had 30 days, but it was shortened to 29 when January and
February were added, and then later changed to its current 31 days.
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Multiply ANSWER KEY
One-Digit Numbers

Directions: Multiply and show work. Solve the riddle with some of the answers.

You find me in December, but not in any other month. What am 1?

E. U. P. T.
72 x6= 432 64 249x5=1,245 $26.05
x9 X 3
576 $78.15
l. B. T. F.
36 27,516 x 2 = 55,032 $15.05 143
X 6 X 4 X 8
216 $60.20 1,144
C. A. D. w.
95x3 = 285 45 213x7=1,491 $14.12
X 6 X 9
270 $127.08
0. R. E. H.
74 23,618 x2 = 47,236 $12.65 365
x 8 X 3 X 4
592 $37.95 1,460
E. T. L. D.
86 x5 =430 75 657x9=5,913 $34.50
x 8 X 6
600 $207.00
e fel [efef v rlefa] |

$78.15‘ 1,460 ‘ 432 ‘ 260 ‘ 5,913 ‘ 430 ‘$60.20‘ 600 ‘$37.95 ‘ 47,236‘ 218 ‘$207.00

Fun Facts: Decem means “ten”. Originally it was the tenth month on the old Roman calendar. December marks the
shortest day of the year in the Northern Hemisphere and the longest day in the Southern Hemisphere. The birthstone for
December is bue turquoise or zircon. December originally had 30 days, but it was shortened to 29 when January and

February were added, and then later changed to its current 31 days.
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